Chang in body fluid compartments
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¢((the result = what you add))
elsotonic+ hypotonic =hypotonic
elsotonic+ hypertonic=hypertonic
e[sotonic +isotonic=isotonic

o((the result = the opposite except #3))
s|sotonic-hypertonic=hypotonic
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Example: Loss of hypertonic solution

ECF < 43590l &) 5| hypotonic zall) c¥aal) (e -
Gkl (A 45 gan) (s sbutil Ll ICF 0 Aujgand) JiBw -
loose Aal) oY Jiww anall ECF 2 -

HYPER (Yl HYPO (s Jii; Laila slall oY ICF () Sl slall -
ICF a2 e JEG plall 0 Lang =

Nourah Al-Ajmi Physiology Team 432



